



Vendor Ranking

Page 1 of 1

04221104 Letting:

November 04, 2022 10:30

Call Order: 002

Contract:

E4W55-R0

District 4 District:

Counties: INDIAN RIVER

Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

AM

Project(s): 45129317201 (*)

Contract Desc: INDIAN RIVER COUNTY MOWING - ROUTINE MAINTENANCE

| Ranl | k Vendor | Bid Type | Bid Status | Total Bid | Percent Of Low Bid |
|------|-----------------------------------|------------|-----------------|--------------|-----------------------|
| 1 | SOUTHWIDE INDUSTRIES, INC. | Responsive | Winning bid | \$254,856.96 | 100.00% |
| 2 | GRADING & BUSH HOG SERVICES, INC. | Responsive | Non-Winning Bid | \$333,721.60 | 130.94% |
| 3 | TERRA MAINTENANCE CO. | Responsive | Non-Winning Bid | \$433,139.16 | 169.95% |

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED:

BEGIN DATE: END DATE:

11/29/22 12/02/22 **BEGIN TIME END TIME**

10:30 AM 10:30 AM

NOTE: The award amount and contract performance bond shall be based on the maximum limiting budgeted amount of \$ 300,000.00 and not the contractors bid total.





Tabulation of Bids

Page 1 of 3

Letting: 04221104 November 04, 2022 **Call Order:** 002 **Contract:** E4W55-R0

District: District 4 Counties: INDIAN RIVER Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 45129317201 (*)

Contract Descr: INDIAN RIVER COUNTY MOWING - ROUTINE MAINTENANCE

The work under this Contract consists of all labor, equipment, materials, and incidentals necessary to complete mowing, litter removal and disposal, edging and sweeping on the State Highway System in Indian River County.

•MAXIMUM LIMITING CONTRACT: The award amount and contract performance bond shall be based on maximum limiting budgeted amount of \$300,000.00 and not the contractors bid total.

•PERFORMANCE BOND: A Contract / Performance bond is required for this project.

| Line No / Item ID Item Description | | Alternate | Quantity Units | (1) SOUTHWIDE INDUSTRIES, INC. | | (2) GRADING & BUSH HOG SERVICES, INC. | | (3) TERRA MAINTENANCE CO. | |
|------------------------------------|--------------------------|-------------|-------------------|--------------------------------|------------|--|------------|---------------------------|------------|
| | dicates item is bid | as Lump Sum | 55 | Unit Price | Ext Amount | Unit Price | Ext Amount | Unit Price | Ext Amount |
| | SECTION: | 0001 (| LARGE MACH | IINE MOWING (AC | ; | | | | |
| 0005 LITTER | E107 1 1 REMOVAL | | 6,671.976 AC | 9.50000 | 63,383.77 | 10.00000 | 66,719.76 | 25.00000 | 166,799.40 |
| 0010 MOWIN | E107 2 1 G (LARGE MAC | CHINE) | 5,491.080 AC | 21.00000 | 115,312.68 | 20.00000 | 109,821.60 | 23.00000 | 126,294.84 |
| 0015 MOWIN | E107 2 2 G (SLOPE) | | 76.992 AC | 30.00000 | 2,309.76 | 168.00000 | 12,934.66 | 200.00000 | 15,398.40 |
| 0020 MOWIN | E107 2 3 G (INTERMEDI | ATE MACHINE | 1,063.956) AC | 52.00000 | 55,325.71 | 60.00000 | 63,837.36 | 00000.08 | 85,116.48 |
| 0025 MOWIN | E107 2 4 G (SMALL MAC | CHINE) | 40.068 AC | 41.00000 | 1,642.79 | 90.00000 | 3,606.12 | 80.0000 | 3,205.44 |
| 0030 WEED 0 | E107 2 5 CONTROL, MAI | NUAL | 119.124 AC | 20.00000 | 2,382.48 | 225.00000 | 26,802.90 | 200.00000 | 23,824.80 |





Tabulation of Bids

Page 2 of 3

| Letting: | 04221104 | November 04, | 2022 Cal | II Order: 002 | | Contract: | E4W55-R0 | |
|---|----------------------|--------------------------------|-----------------|--|------------|---------------------------|------------|--------------|
| Line No / Item ID Alternate Quantity Item Description Units | | (1) SOUTHWIDE INDUSTRIES, INC. | | (2) GRADING & BUSH HOG SERVICES, INC. | | (3) TERRA MAINTENANCE CO. | | |
| () indicates iter | m is bid as Lump Sum | | Unit Price | Ext Amount | Unit Price | Ext Amount | Unit Price | Ext Amount |
| SECTION: 0001 (LARGE MACHINE MOWING (AC | | | | | | | | |
| 0035 E110 32 | 2 2 | 249.996 | 58.00000 | 14,499.77 | 200.00000 | 49,999.20 | 50.00000 | 12,499.80 |
| EDGING | | MI | | | | | | |
| 0001 LARGE MACHINE Section Totals: MOWING (AC) | | | | \$254,856.96 | | \$333,721.60 | | \$433,139.16 |
| | Contract G | rand Totals: | | \$254,856.96 | | \$333,721.60 | | 433,139.16 |



11/04/2022

Tabulation of Bids

Page 3 of 3

Letting: 04221104 November 04, 2022 **Call Order:** 002 **Contract:** E4W55-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.